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  Decaying-Dimerizing Reaction Set
              S1--> 0              c1 = 1
     S1 + S1 --> S2            c2 = 0.002
             S2 --> S1 + S1    c3 = 0.5
             S2 --> S3            c4 = 0.04
     - Exact SSA Run
     - 500 steps (reactions) per plotted dot.
     - Intially:  X1=100,000;  X2=X3=0.
     - Last reaction at T=48.07.
     - Final X(3)=17,106.
     - 524,112 steps (reactions) total.
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  Decaying-Dimerizing Reaction Set
              S1--> 0              c1 = 1
     S1 + S1 --> S2            c2 = 0.002
             S2 --> S1 + S1    c3 = 0.5
             S2 --> S3            c4 = 0.04
     - Explicit Tau Leaping Run (Epsilon=0.03)
     - 1 leap per plotted dot.
     - Intially:  X1=100,000;  X2=X3=0.
     - Last reaction at T=44.52.
     - Final X(3)=17,033.
     - 592 leaps total.




















